Integration

Simplify:
1. j 8 dx

4. J%dx

7. J‘e’“dx

Substitution:
1. j(2x3 +1) x2dx

3. _[sin3 xcosxdx

2. J‘x’s dx

5. _[sinSxdx

8. _[x(x— 1)dx

3. j2x—7dx

6. Jcos(x +3)dx

2. jxsin(xz )dx
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By Parts:
1. szezxdx 2. Iezx cosxdx

By Partial fractions:
L J 5x*—10x— 8

dx
X' —4x



1
2. J > > 3 > dx : write in the form of partial fractions but do
X(x=Dx"+3)(x"+2x " —x+1)

not solve.

Definite Integral:

.5
| (3x2+4x + 1)dx
1. Evaluate: -1

2. Find the displacement of an object from t = 2 to t = 3, if the velocity of the object at
time t is given by:
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